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DAY 3 — Graphing method
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1.

For Megan'’s sixteenth birthday, her parents are

planning a party. Tony's Pizzeria charges $150 for the

party room and $12 per guest for the cost of food.

Hamburger Joey charges $180 for the party room and

$10 per guest.

a) Write a system of linear equations to represent the
situation.
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c) Graph the lines. Label axes,lines and graph with
what each represents. Choose appropriate scale.
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b) Fillin the tables to help you graph the lines WG, ZLLO)
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f) Check your point of intersection in both equations
to see if your graph is accurate
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c) Graph the lines. Label axes,lines and graph with

FunNGames Video rents game machines for $10 and video games
what each represents. Choose appropriate scale.

for $3 each. Big Vid rents game machines for $7 and video games

for $4 each. Let y be the total rental cost and x the number of
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games rented.
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b) Fillin the tables to help you graph the lines d) State the point of intersection.
FunNGames: Big Vid: LB WO\>
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f) Check your point of intersection in both equations
to see if your graph is accurate
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